Two players take it in turns to circle a line of 3 number squares that make a division equation. The

Colour a Division Line

line can be in any order but must be beside each other in a column or in a row.

The example 32 <+ 4 = 8 is shown below.

32)| 19 |18 | 30| 6 | 2 | 17 | 12
| 4| 4 | 16| 5 |16 | 11| 24 | 25
| 8 | 1| 8 |10]| 4 | 27| 3 | 26

4 | 8 | 2| 6 |12 2| 6 | 13

2 | 6 | 12| a9 | 3 | 12| 4 | 28

8 |48 | 6 | 15| 4 | 6 | 24 | 14

20| 7 | 3| 8 |36 | 21| 8 | 22

29 [ 23 | 18| 2 | a9 | 27| 3 | 1




Colour a Division Line

Answers

optoborom () bottom 10 t0p goign (@) rightrolen
32|| 19 | 18 [ 30 | 6 | 2 | 17 | 12
_(4 4 |/16)| 5 | 16 | 11 | 24 | 25
I 8 1 8| 10 | 4 | 27| 3 | 26
T4))| s (2] 6 |/12)] 2 (6 )| 13
(2]{] 6 | 12)] 9 ||3|| 12 || 4 || 28
8 )| 48 "6 )| 15 (4 & @ 14
20 | 7 || 3 || 8 [ 36| 21 | 8| 22

29 | 23 (118)| 2 | 9 | 27 |3 1




Colour a Division Line

Two players take it in turns to colour a line of 3 number squares that make a division equation. The
line can be in any order but must be beside each other in a column or in a row.

The example 81 <+ 9 = 9 is shown below.

81 25 A 7 21 3 A 12

9 18 | 21 9 3 27 2 60

26 5 6 17 6 14 3 11

19 9 6 3 18 | 20 4 1

36 3 7 7 9 45 5 16

12 | 24 | 42 | 10 2 10 | 20 | 23




Colour a Division Line

Answers
optobotion (@) bonom o top P
81)| 25 | 4 [(7)| (21 (3 4 | 12)
| Q | 18| 21 (a9 |[/3]]| 27)| 2 | 60
_(q 4 |(36) 63)[7)] 9 | 13| 5
26 | 5 ||6 | 17| 6 | 14| 3 | 11
19 | 9 [/g\\ 3 |[18)| 20 @ 1
36/ | 8 [|7 || 7 |/a/| 45 || 5| 16
| 12| 24 |(42)| 10 |(2/] 10 [(20]| 23
_C3 6 | 18)] 2 | 9 | 15 | 22 | 12




Colour a Division Line

Two players take it in turns to colour a line of 3 number squares that make a division equation. The
line can be in any order but must be beside each other in a column or in a row.

The example 54 = 6 = 9 is shown below.

9 1 12 | 25 4 16 A 45

6 26 2 23 3 10 | 24 9

28 | 13 3 18 6 9 54 2

21 27 | 18 9 2 60 6 10

14 9 6 66 | 11 99 9 &

21 8 7 7 22 ( 15 | 16 | 20




Colour a Division Line
Answers

top to bottom ‘ bottom to top left to right . right to left

9 1 12| 25 KD 16 4 45

6 |26 |12 |23 |/3 || 10] 24 | 19
54 qf?zuz)s 1 |((5)

28 | 13 || 3 18 | (6 qQ | (54)]|| 2

2 ) 60 || 6

21 27 @ 9
% | a (6

66 || 11 99 9 4

21 8 7 7 @ 15 | 16 | 20
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